	Candidate’s name:………………………………….................
	Random no.
	Personal No.

	Signature ………………………………………………………
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


P515/1

PRINCIPLES AND PRACTICES

OF AGRICULTURE

Paper 1

Nov./Dec. 2020

2½ hours


SERERE TOWNSHIP SECONDARY S HOOL

 MOCK EXAMINATIONS 2020

Uganda Advanced Certificate of Education

PRINCIPLES AND PRACTICES OF AGRICULTURE

(THEORY)

Paper 1

2 hours 30 minutes

INSTRUCTIONS TO CANDIDATES:

Answer all questions in both section A and B

SECTION A

Answers to this section must be written in the boxes provided

SECTION B

Answers to this section should be written in the spaces provided and not anywhere else.

No additional sheets of paper should be inserted in this booklet.

	
	
	For Examiners’ Use Only

	SECTION A
	1  30
	
	MARKS

	
	
	
	

	SECTION B
	31
	
	

	
	32
	
	

	
	33
	
	

	
	34
	
	

	
	35
	
	

	Total
	
	
	


[image: image1.jpg]




Turn Over

SECTION A

1. Which of the following may be a result of inbreeding
A. Improved fertility

B. Polyploidy

C. Increased mutation

D. Accumulation of lethal genes

2. A likely response when the price of the product is set below the equilibrium is that
A. The price of the product continues to fall

B. Sellers hoard the product and raise the price of the commodity

C. Buyers become reluctant to buy the product

D. Product floods the market

3. Extensive use of pesticides is discouraged because the pesticides
A. Are expensive

B. Accumulate in the environment

C. Contain in the environment

D. Cause mutations which may cause pest resurgence

4. The following Are methods of treating water on the farm except
A. Scarification

B. Addition of chlorine

C. Addition of copper II sulphate

D. Sedimentation

5. Which term is used to describe a fall in valve of a fixed asset resulting from age, use and Obsolescence
A. Valuation

B. Depreciation

C. Appreciation

D. Depression

6. Which of the following statement is incorrect about immunity in animals
A. Antigens can be molecules of foreign micro-organisms

B. Newly born stock obtain material anti bodies from colostrum

C. Passive immunity is conferred to a calf by giving injection of a vaccine

D. Antibodies are produced against specific antigens

7. Which of the following constitutes a couple of methods used in pasture establishment
A. Seed drilling and scarification

B. Direct sowing and indirect sowing

C. Use of a nurse crop and direct sowing

D. Tilling and broad casting

8. Working on wet clay soil is more likely to result into;
A. De-flocculation of soil particles

B. Soil flocculation

C. Loss of soil texture

D. Puddling of sol particles

9. Which of the following hormones is secreted by the corpus luteum
A. Luteinizing hormone

B. Follicle stimulating hormone

C. Testosterone

D. Progesterone
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10. Which of the following machines only regulates seed rate and quantity to be planted in an area
A. Broad caster

B. Seed drill

C. Planter

D. Share

11. Correct depth in planting of seeds means planting of seeds,
A. Ensuring that they are well covered with soil

B. So that it does not exhaust its food reserves before emerging from the ground

C. At a medium depth in heavy soils

D. In such a manner that it germinates with seven days

12. Flushing of pigs should be done when
A. The animal has just been served

B. Before the pig is served

C. The animal has just conceived

D. When the piglet is young to minimize risks of piglet anemia

13. Latelization of the soil is least encouraged by
A. High temperature

B. Rich supply of organic matter

C. When the parent rock is sand stone or quartz

D. Leaching because of high rain fall

14. The function of a land wheel in an Ox-plough is to
A. Clean the share

B. Regulate the depth of ploughing

C. Provide an attachment for the mould board


B. Stabilize the plough

15. In farm production the total cost remains constant when
A. The fixed in puts are free

B. The variable input is free

C. The variable cost is greater than the total cost

D. No fixed cost are incurred

16. Which of the following best describes a plant cell which is fully turgid?
A. Water potential of the cell sap is equal to the osmotic potential of the cell

B. Osmotic potential of the cell is zero

C. Pressure potential of the cell is zero

D. Pressure potential of the cell is equal to the osmotic potential of the cell sap

17. Which of the following is responsible for the formation of milk fat
A. Fatty feeds

B. Acetic acid

C. Propionic acid

D. Butyric acid

18. Why is the demand for agriculture products regarded as inelastic
A. Big change in price results into a big decrease in quantity demanded

B. Slight rise in price leads to a big reduction in demand

C. Big increase in price causes a small decrease in demand

D. A slight increase in price produce a slight increase in demand

19. The reason for including feed additives in animal feeds is to
A. Increase palatability

B. Increase the bulkiness of the feed

C. Improve nutritive value of the feed

D. Increase the feed digestibility
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20. Which one of the following factors less influences the farming efficiency
A. Size of the farm

B. Nearness to the market

C. Managerial ability of the farmer

D. Price of both inputs and outputs

21. Which of the following least influences nutrient retention in the soil
A. Cation exchange capacity of the soil

B. Soil pH

C. Soil depth

D. Soil organic matter content

22. During upward movement of water in the xylem vessels, the water molecules do not easily pull apart because of

A.  High viscosity
B. Cohesive forces
C. Surface tension
D. Adhesive forces

23. In a production zone one occurs when
A. Marginal product is greater than average product

B. Marginal product is equal to average product

C. Ends when marginal product starts to decrease

D. When TPP is increasing at a decreasing rate

24. The following are characteristics of a good agroforestry tree accept

A. High spreading canopy B. A member of family leguminosae C. Less competitive ability D. Less spreading root network

25. Which of the following hormone is responsible for milk secretion

A.  Oxytocin
B. Prolactin
C. Luteinizing
D. FSH

26. Which of the following soils is not suitable for use of an ox-plough
A.  Heavy soil
B. Light soils
C. Areas with Short vegetation
D. Sandy soils


27. Which of the following statements is true of joint products?
A. They have the same demand in the market

B. Produced in the same production process

C. The use similar quantities of inputs

D. Increase in price of one necessitates increase in the price of the other

28. The following are examples of submergent weeds on fish ponds except

A.  Water lily
B. Cats tail
C.  Water shield
D.  Water lettuce

29. The reason for excluding air during silage preparation is;
A. Reducing over wilting B. Promote activity of aerobic bacteria C. Lower decomposition rate of the material D. Encourage production of an acidic medium in silage


30. Breeding for hairy cotton was mainly focused on controlling of

A.  Cotton strainers
B. Cotton Jassids
C. American boll worms
D. Cotton weavils
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SECTION B (70 MARKS)

All answers must be written in the spaces provided

31. Table 1shows the production costs incurred at various levels of output, study it and answer the questions that follow.
	
	
	
	
	Average total
	
	Average

	
	
	
	Total cost
	
	Marginal cost
	variable

	
	
	
	
	cost
	
	

	Output
	Fixed costs
	Variable costs
	
	
	
	costs

	
	
	
	
	
	
	

	
	
	
	TC=
	ATC=
	MC=
	AVC=

	
	
	
	
	
	
	

	5
	1000
	1000
	
	
	
	

	
	
	
	
	
	
	

	10
	1000
	1500
	
	
	
	

	
	
	
	
	
	
	

	20
	1000
	3000
	
	
	
	

	
	
	
	
	
	
	

	40
	1000
	4500
	
	
	
	

	
	
	
	
	
	
	

	40
	1000
	5000
	
	
	
	

	
	
	
	
	
	
	

	35
	1000
	5500
	
	
	
	

	
	
	
	
	
	
	


a) Complete the table above by computing the; (indicate the formulae for each)

i) Total cost

ii) Average total cost

iii) Marginal cost

iv) Average variable cost

b) Plot a graph showing fixed costs, variable costs and total cost against out put
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c) What would happen to the total cost if the variable costs were held constant

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

d) Give a reason for your answer in (c)above

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

e) How can farmers minimize on the fixed cost during the production process

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

32. a) Define the term swarming
(02marks)

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

b) Explain the five causes of swarming behavior among bees
(05marks)

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

c). How can farmers control/regulate the above behavior
(03marks)

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

33. a) Define the following terms
i) Milk let down

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

ii) Milk hold up

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

iii) Milk pasteurization

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

iv) Milk centrifugation

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

v) Milk homogenization

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

vi) Milk blending
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…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

vii) Stripping

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(07marks)

b) Explain the causes of off flavors in milk

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(03marks)

34. a) Explain the factors which affect the use of draught power in Uganda
…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(05marks)

b) Outline the factors which affect the choice of implements used for cultivation

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(05marks)

35. a) What do you understand by the term eutrophication?
…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………….

(01mark)

b) Mention five causes of eutrophication in in aquatic habitats

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(05marks)

c) Explain four negative impacts of eutrophication on aquaculture

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(04marks)
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36. a) Explain six factors which influence soil bulky density
…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………...........

(06marks)

b) Differentiate between the following terms.

i) Soil active acidity and reserve acidity

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

ii) soil stability and soil consistence

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(04marks)

37. a) Explain five impacts of gender disparities on agriculture production in Uganda today
…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………….

…………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………

(05marks)

b) What measures can be adopted by the government of Uganda to raise women participation in agriculture production.

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

(05marks)

END
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